> tverine i d in the world ?
Which of the following is the largest inhabited riverine islan

(A) Doab (3)  Majuli 6 Whi
ajo
(C)  Umananda (D) Maraj

(A)
(E)  Question not attempted

()
e 3% 2 v s et vy s v v ¥ o
(A) i\?ﬂl'ﬂ ¢ s mﬂ?ﬂ "
© . (D) TS (A
(E)  ygafiawy .
{
2 Which of the following river is mof part of Indus River System ?
(A)  Satlj ) Goensb A
© Kosi @) Ravi
(E)  Question not attempted
ﬁnﬁ%mmwmwmaﬁmwﬁ%?
(A waRw (B) =
© =nd @) TR
(E)  Iuf@wy
3 Which of the following Lake is not a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar
(C) Didwana (D) Pichola ’
(E)  Question not attempted
ﬁwﬁﬁmﬁﬂwﬁsﬁa@kmﬁmwﬁ%‘?
(A) T=9sq (B) €M
©) ZErzamr @ e (redvem)
(E) 3rgaf@wx
4 Which of the following is the application of computer mostly used in medical field?
(A) To provide assistance in surgery (B)  To create advert;
(C)  To visualize 3D objects (D)  To provide d’ert:semem 3 ’
(E)  Question not attempted siance education
ﬁnﬁr@auﬂmwmmmnmz Frfereedtar e & wifer 29
(A) wrea Fafrear § wemar ®) ﬁmam.
(©) 3% iieSagy F1 v dam ®) @zﬁml "
(E) wgafawg - .. wy '
5 Which of the following is not the clnss/cnlcgory of computers? '
(A)  Paralle]l Computing p(B)rs Micro C
(C)  Mini Computer o Camputer
(E)  Question not attempted ®) Muinframe Computer ¢
. ﬁﬁ%@ﬂﬁummm%aﬁ/mamﬁ .
e Fegfen
(A) o (B) gt vy
© T : (D) i s
.E®) e ! o
All ] ® ¢ . 2 5 . . ' ) 0
s s . ) . R | pIY
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6 Which Indi
ian has won the 2023 Ramon Magsaysay Award? (Choosc the most appropriate option from below)

(A) Ravi Kannan (B) Kailash Vidyarthi
(C) Ghazal Alagh W0 (D) Gautam Adani
(E)  Question not attempted :»:?)
mmﬁzozsmmmwm(ﬁqﬁmwﬁmﬁ <
@) wFw g @) e e >
© wEIEE Dy e v g
(E) Wﬂa uq i ' i
i : -
7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A)  Chennai (X&) (B) Mumbai O
(C) NewDelhi () (D) Kolkata M
(E)  Question not anfmpted :ip
fiefoarer firrem Evie @ e) 2024, v wree/ v s syriford e r? f5s)
(A) =% o ®) o
© R : ©) Fe :
() Hqui@wd
(L) X
8 The famous speech by Pt Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
- (A) Trystand Co-operation (B) Tryst with destiny <!
(C) Tried with dest (D) Tryst with honesty g

(E) Question not an@pted )
14-15 3T 1947 < TEA Y Y afvea SETE T ew FRT fer T Wi, T T ST & ]

(a) fFrewsRiR ®) fefrf i
©) zrssf‘azéﬁzﬁm D) Refrsmed
(E) IE@¥d e

9 The cities that were dirided into communa;
(A) Lahore, Bihar and/Calcutta
(B) Lahore, Amrits@nd Hyderabad
(C) Lahore, Amxitsa'qnd Calcutta
(D)  Amiitsar, Calcutta and Jammu & Kashmir

1 zones during the partition of India were-

(E) Question not atfempted
W%W%mﬁaﬁ*ﬁﬁﬂﬂzmmﬁz-
(a) @eN, faen 3

(B) @R, AT

(€) @R, Fgaat SATFTA

(D) | Srgaa, FerwArsh s FHi

() @ L
Al ®

11087436 11087436

3
[ P.T.O.
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X

10 Given below are two statements:

issi chairmanship of
Statement (I): In April 1919, the Udaipur state government formed a Commlssllionv under theThc g s:ion
Mandalgarh Hakim Bindulal Bhattacharya. in order to listen to the Complaints of Bijolia farmers. ‘
advocated various recommendations for the benefit of the farmers. W be
i i i mad,
Statement (I1): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance shou e

with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajputana.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (1) is incorrect but Statement (11) is correct.
(B)  Both Statement (1) and Statement (II) are correct.

(C)  Both Statement (1) and Statement (1) are incorrect.
(D)

Statement (1) is correct but Statement (II) is incorrect.

(E)  Question not attempted

ﬁixmﬁqm% -

A (I): Fﬁ’ﬂ%mﬁwﬁiﬁmmahgﬁ?ﬁﬁmmﬂmmﬁm 1919 5, T ST 1 7137 RISeTE
T Tt wwgrard <t svorern it nfsa e m%mﬁmﬁmmwaﬁ:

(A) mmm%éﬁmmmm&h (B)  FH () SR Fu= (1) TR w81 &)
© = ) T () S A e
STTERa W=

D) =m0 wé AT () E D
(E)

11 Which of the following is nor a type of Iron ore?
(A) Lignite (B)  Siderite
(C) Limonite (D)  Magnetite
(E)  Question not attempted
Fr=fataa & & == st s w1 En TE
(A) fammz ®) eI (R
©) fommm D) A
(E) gaf@ws

12 Which of the following is an example of joint sector industry? (Choose the most Appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautics Limtied
(C)  Oil India Limited (D) Steel Authority of Indja Limited
(E)  Question not attempted
Frefefiaa # & 27 w1 v éammwmm%?(ﬁqﬁ%mi:mﬁmgi)
(A)  vma ¥ wafaraen fafaze ®) fegam Wil fafpe

~AC)  ¥iEa fem fafie (D) He A 3w ¥y fafrrs

(E) wqafaug

13 Which of the following is a mineral-based industry?
(A) Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals Industry
(E)  Question not attempted
frafafaa # & 7 arafs st 3am #
(A) T TEER T (B) "W 3Um
© = Fdm AP W v
® IO :

4
Al ®

[ P.T.O.
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%
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14

_ o>
B¢

G

®

g
The avcl.'ngc .of 11 observations is 50. If the average of first six obscrvations is 40 and the average of last six
observations is 55, then the sixth observation is:

|1 sraieRt T 3 50 &1.af T we sreat a ahaa 40 8, 3 sifa o8 s w1 sitaa 55 8, @ o e
2

(A) 35 (B) 30

) 40 ) 20

(E)  Question not attempted / 3gafta war

The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole

15

that can be placed in it, is:
A 15m ®B) 19m
() 18m (D) 17m
(E)  Question not attempted
s w12 e, 9 o sitgr i 8 xS ) T @ S A A wiE S A tfirar earé T A |
(A 154 ® 19
© 18 ) 1Ht=24a2
(B) ¥ war

16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m widc?
(A) 84m (B) 110m
(© 119m (D) 115m
(E)  Question not attempted
@mm%aﬁ.aﬁtmaﬁaﬁmqﬂﬁsmma af% gy 14 wiex <t € A gaeht e affy i e,
(efret ) am gt
(A) 84t (B) 110 i

e 19t ©) s '

(B) Fgafawd

17 A shopkeeper sold an article for T 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
T ZERR 3 et T Y 20% B W 400 = 10% %1 &y ATy F fore, 37 3@ g F FFE Ha
EECIE T
(A) 530 ~B) X550
(€) T 500 (D) X520
(E)  Question not attempted / Iﬂiﬂﬂﬁ e

18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A) Govind Ranade (B)  Vivekanand
(C) Dayanand Saraswati (D)  Raja Ram Mohan Roy
(E)  Question not attempted
mmwaammwm%mﬂmm
(A)  Tifg T ®) s
(C) =i wwEd (D) T T T T
(B) @ wa

Al ® i [ P.T.O.
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19 “The Indian War of Independence™, book was written by whom?

(A)  Veer Savarkar (B)  Mahatma Gandhi O
(C) R.C.Majumdar W0 (D)  Baba Amtc n
(E)  Question not attefpted =
2§ T i Rt e f g feredt mo ™
@A) dwwgEmw (B) e s o
AC) AT . wspER g (D) @ e Q
(B) sgEfaws ;::
e
20 T A FE- A S \O
(A) T b it o gt e f (B) vz oy vt afeat a1 o e Frb
(©) Wﬁmzﬁhmmﬁ%m (D) WW@W"TW?'?"W'
(E) rgaf@wa ™~ 0
(o o
21w e g1 e it vl
-1 ™ Riciol v
a. W?ﬁw"‘ I HamEE
b. A A A I e s EE
c. IR YFAT) m. s fear 2?,
d. e SEeA v, derfiaE -
e P e et 2 e g s co
) a-TLb-1V,c-Jid-1 (®) a-lLb-Mec-IV,d-1 S
(C) a-IV,b-1lc-Ed-1I (D) a-ILb-IV,c-II,d-1 N
() gafawg T
0 \O

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Rajasthm(Raqu‘ana Regi
(Choose the most appropnate option from below)

maﬁmmﬁ%vﬁi TS 35 TR (TS &) fofert feamera off 2 (ﬁqﬁﬁmmﬁm;@

(A) 29 O (B) 19

(c) 21 v (D) 25 r,|

(E)  Question not attempted / Frafa 94 v
23 ‘Indian National Army’,(JNA) was created by- (Choose the most appropriate option from bélGiv)

(A) Netaji Subhash Ql;n)ndm Bose (B) Lala Lajpat Rai ' (qqi

(C) Bhagat Singh <jt (D)  Bal Gangadhar Tilak [\

(E)  Question not attdmpted
weefirear Syt e (3180 e, ) e fd g fa e an (ﬁwﬁﬂmmw

) Srash gz (B) @A T v
‘2) v fite r:, (D) e e e el
(E) mgﬂ
6
pT
Al ® [
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Match List-I with List-II.

24
List-I List-I1
a. Chipko Movement I. Afro Asian Conference
Bandung Conference IL. A proposal made by big industrialists in 1944
for setting up a planned economy
c. Dr. P.C. Mahalanobis 1. Anenvironment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
-1 3w -1 6 e A
eI -1
a. o yiEew L - o g
b,  EETEREH L e P srferae wafyd F0 & fag 1944
a2 Farfadt gr R T O W
c. @t wereEt L St e A ¥ o O wataer svidieE
d. smEwH Iv. v R ger 8 qu Teaia FeEr w5
) ety drare foa T
Choose the most appropriate answer from the options given below:
43 fa e fareredt & & walfares Iugw S
(A) a-ILb-ILc-IV,d-I - ®B) a-Lb-ILc-IV,d-II
(C) a-Ib-Lc-IV,d-III D) a-ILb-ILc-1V,d-1II

(E)  Question not attempted / SR T
25  In which of the following year United Nations adopted the UN guidelines for consumer protection?
ﬁgﬁwﬁﬁnﬁﬂﬁaa&ﬁmm%ﬁwﬁw%ﬁmﬁ%ﬁﬁm
(A) 1985 B) 1979
(C) 1981 (D) 1983

(E)  Question not attempted / JIFARA
26  Which among the following organizations control the business of Insurance in India?

(A) SEBI (B) RBI
(€ LIC : (D) IRDAI

(E)  Question not attempted

Frefrfiaer i & 2t e s & ey e 1 it w0l €2

(A) @&t (B) . g,
© e omd. . @ sEsmdgand
(E) raf@ws ' v

27 Whois the head of the Indian Audit and Accounts Department?
(A)  Attoney General of India ' S ok Bkt
(C)  Comptroller and Auditor General of India ) Bk Mighier
(E)  Question not attempted |

TGt S e i S fav 3 wya F &
(A)  ¥RE % WErAaTd (37 e) (®) fawh
(©) v & e wd werramteE (D) wumwHt .
(E) 3rgafawa
Alll ® : 7 ' ' [BT.O.
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28  Which of the following is not nlcginslilulinnnl post? o
(48] (B) Governor M
(A)  Speaker .
(C)  The Chief Justice =t (D) REIGovemor nd
(E)  Question not attempted [: [:
Fraferfaa 3 2 v wn o wnfiad va T 22 oD
(A) S sy @y (B) =AY o
© e =iy i (D) e s e i
(B) e un ™ ™
29 Asperthe Constitution of lndin‘_p}c name of a state in the Union of' India can l?c altered b‘}’ﬁ’
(A)  Parliament ™ (B)  Cabinet Committee ‘L.I
(C) Govemor - (D)  President E:ri
(E)  Question not attempted =
I 5 RN 35 S, ofr g 3 el v o e e i v s et o e 22
(A) wue = B) fnizer afufa (48]
©) T — (D) T ©
(E) i@ wy v "1
30 Identify the most appropriate English translation of the given sentence: =
T IS AT Fa E@ ¥ ferg amet @y mm .
(A)  Fresh air can be had only 6utside. —~B)  He came out to eat a little f\%sh air.
(C)  He came outside for a breath of fresh air. (D)  He gulped some fresh air ggi‘sidc.
(E)  Question not attempted L™ ;‘
31 Choose the most appropr‘iare Hindi word for - “Endorsement”. (s3]
(A) S =ET - (B) WISAFET (&)
(C) gBiFA FE (D) WEHFEAT v
(E)  Question not attempted i
32 Which of the follow?ng best dekgibes the function of control unit? O
(A)  Perform the arithmetic oy\:srations. ™
(B)  Control the operations of@emory, processor and input/output devices. <7
(C)  Perform the logical operations. >
(D)  Convert the external da form understood by computer. (V3
(E)  Question not attempted » o
P i 1 afve ot o s e e -
(A)  siFnfordr aferes #1 fore v
(B) ﬁtﬁﬂ.ﬁr&msﬂtmgzlaﬂggzawﬁ%qﬂmmwm
(©) ﬂiﬂmmwﬁw‘, O
(D) ATe (TFREE) 2T F R A i Ty i wfafda wen ™
(E) waf@ug r~ <
33 Khadi Kamgar Anthik ProlsnhMojana has been implemented in the Rajasthan state fro I~
(A) 16 July, 2024 o (B) 13 July, 2022 W
(©) .14 July,2022 i (D) 15 July, 2023 —
(E)  Question not attempted i ™~
mmnmﬁmmmanﬁimmmmmﬂm&raﬂn"ﬁ ™~
(A) 169, 2024 (1B) 133, 2022
(©) 149, 2022 (D) 15 3pend, 2023
(E) lﬂ'j'ﬂﬁa 4 .
All] ® .

[P.T.0
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34  Match List-I with List-IT :

List-I List-11
Scheme Launched
a. Shudh ke liye youdh % 26 October, 2020
b. Nm@l Rajasthan Abhiyan 1L 18 Dcccmbcr‘ 2019
c.  Indifd Rasoi Yojana L 20 August, 2020
d. lndﬁi Gandhi urban credit IV. 24 February,2021
“yOJana {.;
el 1%:{191@ 0
@-" . ry
‘fﬁm o
o  TEHRRTR L 26 3@ 2020
b, POl e st m 18w, 2019
c. ¥RaTE g M. 20 3ATE, 2020 .
d. R e e V. 2450, 2001 e
Choose the most appropnare answer from the options given below: \_f, e
i R 1w frredt B & waffares Iugw I Tl ey
) a-1v,b-Til,c-1,d-1 (B) aIbII I d-1IV
(© a-Tb-fiDc-1v,d-I @) a-IIb- Jcldll
(E)  Question no ﬁ_i attempted / TG 94 =}
35  Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from
below) :
(A) Southen Rg:sthan (B) Western Raia;than
(C) Eastern Ra(]r than & (D) Northern Rajasthan

(E)  Question r‘x%" attempted

Rt (3, Sft, . ) i Pt § & e da, sﬁa@hammam%‘? (Frer & R g

HEORILIE S
famea )
(a) et v ® T
© qaﬁml:g (D) I T
() rgaRad vf
36 Salt water crocoq\B is main fauna of which of the following biosphere reserves?
(A) Panna ) (B)  Simlipal {£)
(C) Great Nm@r (D) Kutch  ¢¥§
(E)  Question ?Qg attempted &§
@t & freffaa § @ e faiea fed @ sfady o
(A) T B) fmfme o
© izﬁaﬁmx.q . ® w0
(E) FgaRavgy v
37  Which among thé following is the longest river of Rajasthan?
(A) Khari () (B) Chambal ‘O
(C) Luni < (D)  Sabarmati ()
(E)  Question fot attempted <y
Frefrfaa & TereuT ) ol et 7 e i 82 £~
(a) @l o (B)  sfaer 9]
© T o~ @) "o ©
(B) rgafa wa- <
All] ® ! - [ P.T.O.
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i tion from below)
38  The Thar desert comprises the desert triangle of three cities - (Ch‘.’°5c the ";Z:;aif r?g:::;p
(A) Jaisalmer - Jodhpur - Bikaner (B) Ja.lsalmer =4 | Per - Sarmer 43
(C) Bikaner - Jaisalmer - Pali (D) Bikaner - Jaisalm
uestion not attempted
P A et e Petr e, e - (P - g e
aei - B)  Sger - ST - AFHT
(A) S - sfr (B)
© i - Serie - areh (D) e e - A
(B) Irgaiawx
39 What is the food pattem ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and puly,
launched in Rajasthan in the year 2007-2008? : .
T & 20072008 3 st o o i, s zredt 3 et e e e (@, O, T, @) ¥ R0 GOZ W Go
FEM F Yo w1 s ¥y
(A) 80:20 . (B) 60:40
(C). 50:50 (D) 70:30
(E)  Question not attempted / e v
40 Which of the following sector plays most important role in the economy of Rajasthan state?
(A)  Education Sector (B)  Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E)  Question not attempted
TS T e 3 & o 2, sreafiren w9 @ snlen weer s s 27
A) Tommés (B) Emam -
(C) wwmam (D) Fiwdm
(E) rgaiaws
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa (B)  Cotton and Tobacco
(C)  Tea and Sugarcane (D) Coffee and Cereals 46
(E)  Question not attempted
mﬁﬂmmmmﬁmmmﬁ (ﬁqﬁémmﬁmgﬁ)
(A)  HrrEm it (B) e 3R avarg
() =msftTE (D) =t R 3T
(E) wigmfawz
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for aictoss the
Rajasthan state during the financial year 2022-2023.
(A)  slum poor A (B)  rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁiﬁuadzozz-zs%amd!ﬂmmﬁmmmﬁmmM.m.qa_qq_)mmm &
et e % fer foma ar ) —
(A goft whadh fndz B)  wwfor fads
(©) et fade (D) s g
(€) et s
anl ® - W

Whic
(A)
©)
(E)

(A)
©)
(E)

‘Do
(A)
©)
(E)

(A)
©)
(E)

Natl
(A)
©
(E)
=m§
(A)
©
(E)

Col
(A)
©)
(E)

(A)
©
(E)

Fir
(A
(€
(E
™
(A
®©
(E

[PT.O. A11]
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43 Which one of the following is the oldest oil refinery in India?

(A) Haldia refinery (B) Mathura refinery, .,
(C) Koyaliréfinery (D)  Digboi refinery ¢
(E)  Question not attempted it
e it 8 e o e e ety A & 2 -
(a) e @) wgufeEd OO
© wEigER oy o foartt
() IuRayH v
v A
44  ‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the following famous mountain range?
(A)  Pir Panjal Mountains (B) Nilgiri Mountain?_ q
(C)  Aravali Mountains (D) Satpura Mountains,,
(E) Questf:)ﬁ not attempted l“"
Srergr AR T e < ¥ Pt i & el R et e 1 2
@) s e ® Femwa O
© Wﬁ'rﬁjaﬂ ) wagsrIEfeEl
(B) STgaRazE i
45  Nathu La Pass is situated in which State / UT of India? (s}
(A)  Arunachal Pradesh (B) Meghalaya (L]
©) Jamm{{‘ a'nd Kashmir (D)  Sikkim <t
(E) Quest'ion not attempted - [«
AT T () e ¥ P T/ e e feer &2 @
(A) SETEETRA ®) A g
(C) sy TR Ap) fufm o
(B) oruRayx : :
46 Colour blind pérson is unable to discriminate between : 0
(A) Blue and green colour (B) Redand yellow cgl:’)ur
(C) Blue and red colour (D) Red and green coi&
(E)  Question not attempted <
i (e e wafen Fer Gt 3 e g e 3 vl e g
(A) Hren wga ®) W shdnin
© ﬂmaﬁtj’aram ©) wERET .y
(E) gafawd
0 (o)
47  First Indian spagecraft which will carry 3 members and will orbit for 3 days in sm is :
(A) Bhaskard (B) NISAR
(C) Gagaryaan (D)  Spadex N
(E) Questm not attempted 0
e e SfefceraT S 3 wawdt A @ s i s sfafer ¥ 3 et & frg @m O
3 B v
(A) wrEs (B) 3w v Ay vl
© (D) g
(E) rgaiawd
Alll ® 1 [PT.O.
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48  Which of the following is not the allotropes of carbon?

(A) Diamond (B)  Fullerene
(C) Ethanol (D)  Graphite
(E)  Question not attempted

frferfiaa & & - w0 sty Qeg) T 82

(A) s (B) gt
L) (D) T
() i@ s

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B) 15" Constitutional Amendment

(C) 16" Constitutional Amendment
(E)  Question not attempted

o viTcelar s st 3 gt =amarer & =it 6 fafraf 6 s 60 7 & A5 62 7 FA?
(A) 1891 S deim (B)  15at dfeam daaA

(©) 1641 wfum wei (D) 1741wt weie

(D)  17* Constitutional Amendment

(B) 3rgafa ws
50  Match List-1 with List-II.
List-I List-TT
a. Goods and Service Tax L Article 82
b. Delimitation Commission 1L Prime Minister
c. Survey of India III.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
Fft-1 3 wra g1 = frem v '
w1 get-11
a. SN L =R 82
b.  OftEma I SEEEA
c. W wawT (W 3T 3 m.  foae i sirfieh fnm
d. S S femr IV. =T 246 A

Choose the most appropriate answer from the options given below:
=fra fag o fareredt & & watfass sugw swH|

(A) a-ILb-IV,c-1,d-1II (B)
(C) a-IV,b-lLc-IlI,d-1I (D)
(E)  Question not attempted / At 941

a-Lb-ILc-NLd-1Vv
a-1V,b-1ll,c-~1,d-1

51 The concept of ‘equality before law’ is an element of the concept of *Rule of Law” which was Propounded by -
(A) lvor Jennings (B)  Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T 5 O AT Y ST A 5 e o S 7 9 R av st oy e
(A) smEatafig (B)  WiErSAE
4C) Az (D) SR
(E) FrfE 12
Al ® : [ P.T.O.
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52 The actual growth rate achieved in the 11" Five Year Plan was: (Choosc the most appropriate option from below)
1 1ff ererdfer 2o 3 frert areafi gft a0 s Yy (P i & w39 e )
(A)  10% B) 9%
) 8% D) 7%
(E)  Question not attempted / Nﬂﬂﬁ?‘l g

53 GST Council is a Constitutional body established under the following article:
aq@ﬂmmwmﬁmﬁwu%,mmmm&ﬁmwﬁh%mﬁnﬁm
(A) 122 _B) 279A
© 184(1) (D) 247
(E)  Question not attempted / Frgaia wa

54  Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Corporate Tax (B) Income Tax
(C)  Sales Tax (D) Custom Duties
(E)  Question not attempted '

mﬁ&mmw,mm%mwmmwmm%?

) Fmfi @) # (B) FEH
©) ffia (D) HETYeR
(E) guia ¥
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

P i & i e e G B R e €7

(A) dre fafe (B) WiHfa® |
«C) daTE D) WEHUT
(E) Hgaia s

56  Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?
(A) Nahargarh Fort (B)  Chittorgarh Fort
(C)  Taragarh Fort (D)  Bhainsogarh Fort
(E)  Question not attempted

Wﬁﬁ%«ﬁﬁﬂmﬁmmm:ﬁmmm%mﬁ e 3= vroren # et switc Y

Ty i ST, 7 e g@ e A 2
(A) HTenTg fer B) fuxiteg fre
(©) g fEe D) g e
(E) &A@ aa
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B)  Hadoti
(C) Mewati (D) Vagri

(E)  Question not attempted

mam,msmm%mtmﬁﬁﬁmmvmmsmh

(a) TraErd ) e
() wardt D) amd
(B) i wd
Al ® 13 [ P.T.O.
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. . - : ‘s i ible heritage list?
58  In which year was Kalbelia dance form included in UNESCO'’s intangi
mw@mﬁmﬁmm@ﬁmﬂiuﬁqﬁﬁﬁmm@
(A) 2011

(B) 2008 ")
(©) 2009 ey (D) 2010 =t
(E)  Question not attempted / Srgafa war [
’ &
59  Fillin the blnnﬁ}%/ith the most appropriate option : (™)
P o it w3 e st : 4
9,28, 65, 1%6,
2 r— —
“uf g ’ (B) 204
©) 194 @ (D) 206 W
(E) Quesno(r%xot attempted / 37w s (;)
60 In the given question, choose the number letter group which is different from the others.
&qnqmﬁaaﬁ@mmmgaﬁa’rmﬁmtl e '
(A) OE3 <B) PH3 (#0)
©) X2 ¢ (D) IBS o
(E)  Questiontiot attempted / 1Al o i
4 .
61 When was Rajasthan Information Commission constituted 7 &
(A) April 2§, 2006 (B)  April 18,2005
(©)  April 185006 (D)  April28,2005 ‘O
(E) Questio'r’mot attempted ™
TSI =T IS Fa FAT? <t
(A) 28 3, 2006 ®) 183w, 2005
© 18 aﬁégz\‘m (D) 28 378, 2005 g
(E)  rgafe war
i . 4
62  Which of the follpwing position is not mentioned in the Constitution of India? —
(A)  Loksabha Speaker

(B)  Prime Minister
(C)  Chief Minister . (D)  Deputy Chief Mim{‘ﬁ'
(E) Question%ot attempted
ﬁwﬁ-‘fftgaﬁﬂgﬁ‘a-&wawmmftmmﬁmw%?

"
(A) @m[\ (B) Wy 2
(C) weH (D) 39 qEHt

o] (es]
(B) Wﬂﬂo o

63  Who among the-following commonly serves as the Chancellor of State Universitj

es
(A) Governgry (B)  Prime Minister v
(C)  Minister of Education (D)  Chief Minister
(E)  Question'Tiot attempted O
P & &5 23 o Rrafrarerdt & g p s e ety
(A) Tsagrer <t (B) W =t
(C) ey wefi™ (D) W [
® g 2
64  Geostationary §g_tfllites are positioned at km upward distance from ennl}.gvrfuce.
s;ﬁmawﬁmﬁmwaaa\mmzﬁzpqrﬁmmm -
(A) 45990 (B) 26000
(©) 36000 (D) 55690
(E)  Question not attempted / 377wfta wy
Alll ® 14

[ P.T..
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65 Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper oxide and dinitrogen oxide (B)  Copper nitrate and hydrogen gas
(C)  Copper nitrate, nitrogen monoxide and water (D)  Copper nitrate, nitrogen dioxide and water
(E)  Question not attempted

Tz A3f UE (aq) T (@) & srfifar aok 3T -

(A) I IHTFETE U AR iTrarss (B) FI9CAELE UA BEHE <
(C) FIRAEE, AR WwwTee we qrft (D)  FITCATELE, TFZIA SEHFAES vd Tt
(B) et wH
66 Son river is a tributary of which of the following?
(A) Narmada (B) Ganga
(C) Yamuna (D) Mahanadi
(E)  Question not attempted
TR A e gems T ¥y
(a) e (B) T
© = @) e
() gaRaws
67  The Southern most Himalayas are knownas . ¥
(A) Aravali (B) Shiwalik
(C) Himadri (D) Him: i

(E)  Question not attempted

X (wad) fror femrer it e A & ST ST 8 2

(A) TEst B fefas _
€) fomh ») fam=
(E) Hgaiasd

68 ‘wTeT, Yo% FoRd w1 IETET 87
(A) YEEEH (B) wHEEH
() =fwars (D) wfqarw
(E) gafawd

69 T ghE  fr ¥ wmr: fha S € &
(a) = 5. B
© L
(B) ogeRaNa
form | 1 it 92 JuTE I €7

= . ®) s
© ) e
() wrgaRand

71 Fran g & St H GG S ATl ey A -
(A) mmm (B) Hﬁam
© v D) g Ry
(B) orgafe
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i ivisi not by 37
How many numbers from 11 1o 70 are there which are exactly divisible by 7 but ¥

@A) Sia (B)  Nine
(© Sive (D)  Seven
() \Scs!im\ not attempted \D
1R 703 b R s & s 7 okt s g 32 s by
(A) ?\ m =
«©) &w (D) Ard e
(E) Y ey W (49)
7 Amanggthe following words according to dictionary arrangement; €
Rt et o) vt (e STRISH 3 Srgam safiera =hifin)
a, Except b. E_xpecﬂ
Excess d. Exit
Choose the most c_:ppmpn’atr answer from the options given bc.ic—)w!\o
M R ﬁwﬂﬁ%mﬁﬁmmmgﬁl (1)
AN e d.b (B)  b,drjc
(&) &? d, ¢ (D) ¢, dfayb
(E) \Jcslion not attempted / Nﬁﬂﬂﬂ s o0
74 Choosc"\h": venn diagram which best illustrates the three given clasgg:
n%wmgiaﬁﬁqmmmﬂﬁmmﬁﬂﬁm& ']’
Flowers, Red, Fruits v
: " 4 (Lo’
= (D
Q ey
7 bt g
' : r-{
(E)  Question not attempted / WSI’N
75 Which éﬂhc following two states have a Joint plan under Mahi Project? .
(A)  Rajasthan - Haryana (B)  Rajasthan - Madhya Pradesh
(C)  Rbjasthan - Punjab (D) P:nja_s\t‘han - Gujarat
(E) uestion not attempted -
aamamamm@mmm . 00
&
(A) - e (B) TSI - Wed Wy
(©) - G (D) TSI - TR
(E) %w L
76 The chidtteristics of computer in which, computer can P°'f°m$"°““t types of tasks with he same ecase is
known &%)
(A) Diligence ) Spccm
(©) Versatility (D) Religbiliy
(E)  Queéstion not attempted
s e o e, et s o s ot A P e gy
(A) = @ ofy 4
©) W (D) ﬁ q [E I:
() rqafwuy
Al ® v

[PTO.
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77  Select the related word from the given options :
Animals : Zoology :: Blood : ?
(A) Emomology (B) Hematology
(&) Patholoqu (D)  Anatofy
(E)  Questionmot attempted (Xe]
foe o et & & st vz w5 v v ()
AT : ARG - 2 b
(A) GZW i) B) i : ‘
(C) W T" (D) @fﬂﬁ ( 4
(B) et wrl o
78 628,429, 183,249, 416
From the above m e of given numbers, what is the sum of the unit d|g1t of third number from left and tens digit
of the fourth number from the right?
T T ST 3 i, A A efvet v o e v mazﬁéaﬁmﬁm%m SFH FTATE?
@ 6 0 _®) 3
() !
© 5 o D) 7 o0
(E)  Question n.(it attempted / 313?!1’(3 b e ()
|
79  Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi l; the only son-ln-law of Bhumi’s mother.
How Ravi is relatai to Sangita?
(A) Brother-lgﬂnw (B) Grandson | O *
() Uncle ' - (D) Husband o@‘g?anddaughter
(E) Queshon%t attempted
gufter t@aﬁtw@ﬁmmma thwﬁzﬁmwwmmmrﬁqwﬁm%wm%?
(A) FRFE = (B) W= on
© 3w oy el e oy
(E) rguita s el
. Fae
80  Who among the%]lowing established mobile reading rooms and libraries at various places in Rajasthan?
(A) Komal KbiBari ‘ (B)  Pt. Jhabar Mal Sharma
(C) Acharya ulsi (D) Swami Keshwa.nand
(E)  Question t attempted ey
frafafeadd W%ﬁmm«mﬂﬁnw@mmmﬁ?
(A) FHAPRR ®) e g
(© e geH (D) T FETED
€) IaRawA v
0 vl
81  Which of the follswing leaders led the Bijolia movement? "
(A) SurendraSingh (B)  Vijay Singh Pathik
(C) Chuna RAni Punia (D) Kanwar Vijgx' Pal
(E) Question'ot attempted '\“
Freferfiae i & e frshfirar aridrer a1 e fam 0
@) gfie ®)  forra fivg ofum
(© T gﬁﬁl (D) e foror ey,
(B) safaws v
All] ® 17 [P.T.O.
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82  Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka
(€©) Goa (D)  Tamil Nadu
(E)  Question not attempted
Preafafier Tt & & sirce 3 o o i s srerwara fw 27
GV (B) FAlEE

(€) Tirar (D) aftrerrg
(B)  rafawy :

83  Which of the following mineral is non-metallic and inorganic?
(A)  Graphite (B)  Natural Gas
(C) Coal (D)
(E)  Question not attempted
Frerforfen & & o w1 afier s T ST
A)  IoEe (B)  wrHfees
(© =gen (D) e
(E) rgaf@uy
Read the Passage and answer the questions that follow: (Q.84t0 87)
Show me a doctor who is not confused about nutrition and I will show you a doctor who has not kept up with research

Though nutritionists like to claim that basic nutritional advice does not change from year to year, the truth is that each week
brings new studies, new research and new health warnings. Nor do all the studies agree with each other. Often they ar
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry,
much of the so-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thin
breakfast is the most important meal of the da
for your health.

Petroleum

'
which has a vested interest in the outcomes. An¢ 89
e decades does not emerge out of pure science bu

g may be the rule - rigidly advocated by some doctors over the years - thr
y. Skip breakfast, you will be told, and there will be damaging consequence:
You can trace the roots of the advice to (surprise, surprise!) the American cereal industry and to such food faddists as the
Kellogg family (owners of the eponymous cereal company).

It has always been a peculiarly Anglo-Saxon idea. People do eat breakfast all over the world but they do not necessarily
attach such great importance to it. Nor do countries without a breakfast traditio

n see a sharp decline in public health. Fo
instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but th

absence of solid food in the moming doesn't really hurt the French very much. Until the fast food industry spread all ove: 90
France in the last decade or 50, the French had much lower rates of heart disease than most English~spcaking countries.

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like pancak
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-
actually contributed to a decline in American public health, the obesity epidemic and to tooth dec:
sugary cereals are quickly putting out new ‘low-sugar’ variations.

Some doctors still insist that the first meal of the day may be the most important. But the scientj
view that if you avoid breakfast nothing terrible will happen to you.

es with sugx
is-essential myth ha:
ay. Manufacturers o

fic evidence supports the

84 Complete the sentence by choosing the correct option:

91
In reality the benefits from advocating the need for taking breakfast. h
&%) food Industry (B)  general public (
(C)  French people (D) children 0
(E)  Question not attempted a
All] ® 18 ) [PT.0. A11
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85  According to the conclusion of the passage, breakfast -

(A) Co.mributes to an individual's health. (B) s essential and not to be skipped.
~«C) SI“PP""E canngtharm you. (D) Is the most significant meal of the day.
(E)  Question not attempted ™
. . ! ".’j'
86 In America, obesity :{nd tooth decay have assumed the proportion of an epidemi¢ because of the -
(A) Consumplfon g{ ‘savoury food (B)  Vested interest of the general public
L) Consumption of sugary cereals, (D)  Greek idea of breakfast.
(E)  Question not attémpted '
| (=
87 Bogusmeans .
(A)  Confident ¢ AB) False (e
(C©) Big M (D) True ™M
(E)  Question not attempted ' <t
P~ ™~

88 Identify the most appropriate idiom which can replace the underlined words: @
Rohit has the reputation of complicating and confusing things when any issue is'raised in the meeting.

(A) gotour wires crossed (B) asclear as mud
<€) muddying the'Waters (D)  in complete shambles
(E)  Question not attempted
(U} W
89 Which of the followifig ifacility is mainly provided by E-mitraplus initiative of lﬁﬁsthan?
(A) Video conferenéing <
(B) To apply for bitth certificate, domicile etc. £
(C)  Payment facilityfor individual firms , o)
(D) GIS based Debision Support System =
(E)  Question not attempted i
freferfiaa & & 2 o gl gega: v i - e g e A AR
(A) difedr wiEsfET (B) = YHI9T 9=, firamd & fofe e =
(c) fafire sfergrt @yyprar i gl 3 (D) ft. 377, ww. st Fofa werae woredt
() Faf@wa (V) ) ™
<t <
90  Which of the followibg-input device is used to input temperatures and moistare £c.?
(A) Sensors 0 (B) Webcam @
(C)  Scanners (] (D) Joystics S

(E)  Question not dttémpted
ﬁqﬁﬁaaﬁﬁahaﬂigzmmmﬁﬂmmsmmﬁmmmﬁéﬁﬁmmh

(A) @ (B) 0
© @ (‘f’) ) SR o
() wqafasd .y o
Ty
91  Identify the word thagn best substitute the given expression: P
One who is too strong1p be defeated. Q
(A) Invincible .y (B) Invulnerable
(C) Indefatigable . (D) Insolvent -
(E)  Question not attempted
9 [ P.T.O.

All] ®
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92

i ive helow:
Identify the most appropriate antonym of the given word from be

APATHY .

(A) Fervor (B)  Stoicism
(C)  Stupor (D) Aloolness
(E)  Question not attempted ;

93 Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -
(A)  Heading (B)  Subject
(C)  Salutation (D)  Signature
(E)  Question not attempted

94 ﬁnﬁ&ﬁmﬁw%mﬁéﬁ:mmﬁmmﬁmﬁ&:mﬁ{(mﬁm ava i atzy mar 82
(A) T fam, 1976 (B) T srfufaw, 1963
(©)  Tshmar ifufyam, 1967 (D) T fam, 1973
(B)  3rgafa

95 wmaier wo, fie i & e eft 3 Rvar smar 29
(A)  wu9 Iy (B) W W
(C) wuw hidS D) = N
(E) rgafa wx

96  Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali ' (B)  Nepali
(C) Sindhi (D)  English
(E)  Question not attempted
Frafafaa i a st v wfereT i et st e e &2
(A) gyl (B) et
(C) farft (D) fh
() rgafa sy

97  Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mchta
(C) Manika Batra (D)  Sharath Kamal Achanta
(E)  Question not attempted
o frarerrd ot 2aren 2 ¥ ort et i e T e 2022 ST e R
(A) drersfa iy (B) W Near
() =@ (D) 0 A I
(E) wqafauy

98 Which one of the following is not a Fundamental Right under the Constitution of India?
(A)  Right of Freedom (B)  Right to Education
(C)  Right to Property (D) Rightof Equality
(E)  Question not attempted
Freferttaa & & = a1 wnedya wfingm & aea Mo st 8
(A) A F st (1) Rrear e e
(C) wufer @ s (D) WA AT Sifir
(B) R

ALl ® ' 20

[PT.
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99  Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
(4J  doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn’t furnish

(E)  Question not attempted

100  Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a, the, the (B) a,theaa

(C) the,a, , the (D) an,the, an, a

(E)  Question not attempted

101 Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969to 1972 (B) 1957to 1960
(C) 1961 to 1964 (D) 1966 to 1969
(E)  Question not attempted

VR G Aereit § & e § & 39 & o 9wt i st aifva forar ma 9

(A) 1969 & 1972 (B) 195781960
(C) 1961 & 1964 (D) 1966 & 1969
(B) gaia s

102 Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-
<. afar I snrea s fare serm e Fefefaa § # i ad § sy i of?
(A) 2012 (B) 2006
(C) 2007 (D) 2010
(E)  Question not attempted / Cﬂiﬂﬂﬁ 94

103  Rajasthan handicraft policy has come into force on
(A) 23 November, 2023 (B) 17 September, 2022
(C) 18 September, 2022 (D) 20 December, 2023
(E)  Question not attempted
TSI gYFT Afd Fran g ol
(A) 2379, 2023
() 18 fade, 2022
(E) rgufta w4

104 NITI AAYOG was established on: (Ch
(A) 1% January, 2015

(C) 15" August, 2014
(E)  Question not attempted

<A st - o ey, (P 3 8 werd e T )

B) 17 f&Esw, 2022
(D) . 20 fewaw, 2023

oose the most appropriate option from below)
(B)  I*January, 2014
(D) 15" August, 2015

(A) 1SHad, 2015 (g) | SFEdt, 2014
(C) 1537, 2014 (D) 15377, 2015
(B) rgafa s
v ® 2, [ P.T.O.
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105 Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  1DBI - ShogdTerm Loans

(C) RBI- Lon}‘,{}!"cnn Loans (D) snBl- Mm{c“ry Policy

(E)  Question ‘.‘9‘ attempted ;i’

Frfeftaa 1 & it wiatm 31 gf, w

(A) I ) e (B) 3, &, afogrd. - srerRfer® F
(€) A aft, 3id.- defemferas wur (D) uw. aft, syrd sifam Afa

) gaka m:: -

2 H \ A
106  How many industrics were reserved only for public sector before the dcrggylalion of the Industrial Sector in 19917
(Choose the most.fppropriate option from below) v

48} . -
1991 3, Senfis &3 3 Fafirarer & o, vt wrfrfven v 3 R vy i s v (e - e e ket <)

@» 17 ﬁ ® 20 I~

© 14 0 (D) 24 @

(E)  Question not attempted / 3Tt war a
o= ;

107 ¥ & F13-91 vea-ifira ahn wartaareh 7 &2 ™
(A) Sfadrs (B) iy 0
© oW ® T
(E) rgafe var) o

'Q’ [\

108 33 Ry g ; . v
o - 1« e ] o ey o o et 3 o P s 1 o
T - 11 - T (551 3 e waiin & aef = ook oft By s 21 -

I el % it Frrfafea fravedt § & watfies sugw swwt L.

(A) o1 Tea 2, Py e e (B) mlaﬁn&aﬁmm
(€)  Fo 1 i Er rera 8 (D) Wmﬂzﬁ:]ﬁamnnmm
(E)  37Faft 94 oy
<t i~
109 fr=fafaa § & a7 afat s # o0
a. 38 b. St a
c. HH d. q -l
e. 9 -
12 feo o foret i & wrartfiras o s o ww R W
(A)  Faab, d dite @) A@Eb, e 3yd
(C) Wn.c@c (D) W“-dﬁh’
(E) Ngﬂftaa?\ 0
0 O
110 ‘Dcpuwlion'%@ftaiimﬁq;ng. !
@) fEfa ey @) sfafafE
© Ffafs () wfngfa
(E) eigaf@uy
All]l ® 22 [ PT.O.
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1 Frafafes & snfsder g s -

(A) onfafasr (B)  ashfasr
© sy D) smshfa
(E) Sraiaww
112 Cooperative movement in Rajasthan region was started in the year . (Choose the most appropriate option
from below)
T 8 3 wEehTt STiere Y e o it g | (P 3 & w3 Frwe )
(A) 1914 (B) 1904
(C) 1910 (D) 1912

(E)  Question not attempted

113 Given below are two statements:
Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.
(B) Both Statement (I) and Statement (II) are correct.
(C) Both Statement (I) and Statement (II) are incorrect.
(D) Statement (I) is correct but Statement (II) is incorrect.
. (E) Question not attempted
e 21 e Ry o &:
o (1): Aifean urg =1 frdh 3 e i winfea fram s @ it 7 st sfafrares g d)
U (I): Fifeaw u1g Ao & warear & Sfafan w81
e T 3 el , 1 f e et # & wa@ 30T S

(A) A (1) e & Afe e (1) e R B) Fu () A FY (1) AT FTE &
(©) = (1) 3w (1) ST & e &) (D) U (1) §ét @ AfSFT 7 (1) Tea R
() Hgaiawd

114 Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post )
(B) Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various computers
(E)  Question not attempted
e o @, g AGfd B g, N T W Y e i AR w6 % R R
ST 8:

(A) i %12 3 e & fag

®) fafir= sl &1 va-gat & sirgar

(C) ¥z T HETH # s i wied #f s & fere
)  Fafir st & s e @ A & fere
(E) rgaRaws

All] ® 23 [P.T.O.
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115 In which year the Indian Space Research Organisation (ISRO) was set up?
ﬁ%ﬁamwﬁmmmmusnowwmﬁw{g
(A) 1952 W (B) 1962 oot
1969 M) (D) 1972 i
(E)  Question nuﬁjlcmplcd / argafa ua e
116 Which of the follm‘fng facility is not provided by the Rajasthan Sampark Portai('}j)
(A)  Automatic é;gccll Recognition (ASR) (B) " Grievance R"d"’f_g !
(©  GIS integration and data analytics (D) Video-con I'crcncri_r_!g
(E)  Question not attempted
mmaﬁﬂmiggﬁmmm%mmm@m%? 0
AN SRR Wi ferimre (ASR) B)  ferprert i fre
© . 3T, v e st st v R (D) =fifEar whfET
(B)  rgafe war g
o0 &0
117 Fill in the blank by'clioosing the most appropriate option: o
He was indignant ™4 being cheated by the smooth talk of the salesman. ;j
(A) at - (B) with '
(©) in D) of
(E)  Question no‘t'(a‘tempted ot
™ "
.. ST : .
118  Change the direct sgech into indirect speech by selecting the most appropriat ;option from below:
He said, “I do not wish to see any of you, go away.” B 5
(A) Hetold thathie did not wish to see us and ordered us to £0 away. O
~4B)  He said thatthé had not wished to see any of them and ordered them to g atvay.

(C)  He told thatid did not wish to see any of them and ordered them to go aivay,
(D)  He said that he does not wish to see any of us and ordered us to £0 away.,
(E)  Question notéttempted ' ({5]
™ m
119 Change the sentenceinto passive voice by choosing the most appropriate optioﬁ
They feed the sealsl; the zoo twice a day. : .
AAK)  Twice a day the seals are being fed at the zoo. (B)
(C)  They feed llag_feals twice a day at the zoo,

(E)  Question nomtémpled '

0
The zoo feeds lltjeals twice a day.
(D)  The seals are fed twice o day at the zo0.

=
120 In Rajasthan pullin'gQ gold nail between the teeth is known as:- (\?\
(A) Borla (B)  Daamna
L g
(€)  Baari (D)  Choonp ~
(E)  Question p tempted Ly
ST B 26t 2 St 38 1 o v e v a0 v v s 8 »]
GV L (B) N 4
©) =l - (D) =
(B)  orgafawa
Al’] ] ® ' 24 ||’.T.0.
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121  In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?
(A) Gair (B)  Ghudla

(C) Chang 0 (D) Dandiya L‘?
(E)  Question not attemptcd (‘_’
e 5 P it e e, st i sref i it g aver-a4a % i o v #7
A) ™ (B) e [m
(© @ 63 (D) sifem Pt
(E) rafauy : —
—
122 Where is Nataniyon Ki Haveli situated?
(A) Lakshmangarh 0 (B)  Jhunjhunu Vs)
(C) Churu ‘ (D) Jaipur m
(E)  Question not attcm;‘;}:.)_d =j
mﬁmmwﬁﬁm P~
(A) TG @ ®) T &
© T ) (D) AR o
(E) Sgaf@wd d ™
o —
123 Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P. Sarabhai (U] (B) Potti Sriramulu

436

(C) Sriram Gandhi  {¥) (D) Ramlal Gaya

(E)  Question not attempted
39 st &1 19 FAEST 12:532  goren ATy TS T T F fAY s W AT T 9, aﬂt%wm%zﬁmiraaﬁﬁé

T ol
@ @dwor O ®) i o
(C)  Hrag it ™ (D)  TwETE T :
(E) &gHiEasa i
0
124 Given below are two statements: ™M

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily %a'the uprising of the civilian

population. ™~
Statement (II): Mutiny Wi a collective disobedience of rules and regulations withirﬂl?c armed forces.

In light of the above statefignts, choose the most appropriate answer from the oplionsg('en below.
v

7

(A) Statement (I) is incorfect but Statement (II) is correct.

(B)  Both Statement (I) Hill Statement (11) are correct. i
(C)  Both Statement (1) and Statement (11) are incorrect. .
(D)  Statement (1) is co : t but Statement (I1) is incorrect. 0
(E)  Question not attempt Q

e 31 A fay o #: P~ [~
o (I): 1857 % ﬁimmg@miwmﬁﬁtﬂummmqmm: Al st o o 4 @y
o (11): Faie (eaferef) wangg areif & oftare Faait st fafvanil 0 wofess s oty

Fres AT o ST i, (9 fev g faaredi i @ e UG IO o
(A)  FaA (1) e 8 A g (1) wé 1 (B) w0 (1) it (1) 2tk %)
(C) A (1) T (11) 2t ot wrera E1 (D) (1) Wt & bt e (1) vrerar
(E) - i@ gg
All] ® 25 e
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) iven by henna?
125 Which of the following is responsible for the dark brown or reddish colour g1

(A)  Hydroguinine (B)  Luciferin
(C) Melanin (D) Lawsonc

(E)  Question not attempted

A e T T v s et @3 e Freafafr i a fsterc e 87

A) g @) e
(©) wafw (D) @A
(E) ¥gaf@ws

126  Zinc reacts with dilute nitric acid (aq) to give
mm%ﬁmmﬂmﬁﬂ?m(m)ﬁmaﬂg
(A)  Zn(NO,), +NO +H,0 (B)  Zn(NOy), + H,0+ N0
(C) Zn(NO,),+H, (D)  Zn(NO,), + H,0 +NO,
(E)  Question not attempted / TFAI 94

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C) F, particle (D) Centromere
(E)  Question not attempted
FIHIET (Pr) F1 Frefiad § & 95w o e @ @i

(A) wnRs (B) =R
©) T wiE (D) Ff
(E) uf@ys

128 Which of the following is not a Kharif crop? .
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
frefafes § @ @7 va ahs woa of &2
(A) U™ (B) W
(C) @=u (D) =
(E) et ws

129 If ‘threat’ is coded as 289512, then *BRIDGESTONE' will be coded as:

a2 “threat” 1 %1€ 289512 2w farar S 8, w1 BRIDGESTONE' 1918 ¥y,

~tR) 29947512655 29 @ 2947513885
(©) 29947612955 (D) 28947612855
(E)  Question not attempted / i uu

Alll ® 26 [PTO
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130 Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?

(A)  31km B3y 27 km 0
(s} i

(C) 25km (D)  26km ™
<

(E)  Question not attempted m

waﬁtm%ﬁwﬁaﬁmﬁﬁm{wmlamuﬁ oy, srent sfte swra 7 66, Y, STlT T e v ata g sie

7ﬁs.ﬁ.aaraﬁtmaﬁgg%54ﬁ:tﬂ'xmlah‘isrﬁrpfﬂ?uﬁnr—ﬂ?ﬁm#’ 0
(A) 31 fR . Pt @y 27, S
o1 s fa. oft, i (D) 26 %, i
(E) oraRawd vl

131  A,B,C.D, Eand F are sitting in @row facing north. E and F are in the center, and A and I{,’uc at the ends. C is sitting
on the immediate left of A. Whe's sitting on the immediate right of B?

A. B, C, D, E 3R F ua tfth & gwpht it e e 43 §1 E s FFz i &, aﬂmsﬂmmg:rr?nc A 3% g o

QBT R B#mzﬁmmmﬁv 0
Ay D (B) E Q
© A O (D) F 1

(E)  Question not attempted 3t g ™

132 Select the option that is related to the third letter cluster in the same way as the second Ic&gr cluster is related to the

first letter cluster.

ﬁwﬁ%wﬁmmmﬁﬁmﬁqﬂumm{sﬁmmmﬁm%ﬁmmm T UH S A

c" i g 8 Y = >
WOUN DS,: DNOSUW : : ALMIGHTY : ? o0

GILHMATY (s8] (B) AIGHTYLM. o
(C) AIGHLMTY (] (D) AGHILMTY =4
(E)  Question not attempted /'\Tiaﬂﬂ?r s v ~i

There is a definite relationship between figures (i) and (ii). Establish a similar relationship’between figures (iit) and
(iv) by selecting a suitable fi gu%'pfrom the options. So select a figure from the options lﬁ:’f: would replace question

mark (?)
arau‘ﬁm)aﬁt(u)ﬁﬂi@ﬁf‘ﬂ?‘mﬁlﬁﬁﬁﬁﬁmwﬁ'mmmwﬁ'(lmﬂﬁt(n)*mmm

wﬁamwﬁqﬁmaaa{mmmmﬁumﬁwmmal

133

Problem Figure / mmq;f‘a S
AR i P, r—l
4 ID
0
(i) (ii) @iii) O (iv) ™M
") <
I B A"A ™~
=
® o
Q .
©) @ v (D) vl
i
(E)  Question not attempted / 31t X4
Alll ® 27 [ P.T.O.
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" o A : :
o : by 8%, the fraction becomy, Is
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8% es R 1
the original fraction js:

15 4
P it =t # 0 — B R
e v 1 % stara 1504 g fea s s g w0 A 8% e e s, i et o 16 Thay,
ifs -

(A) % (B) %
Flat % (D) %

(E)  Question not attempted / et wu

135 Amit, Sumit and Vinay divide an amount of ¥ 2800, amongst themselves in the ratio of 5: 6 : 3 respectively. Ip,,
amount of X 200 is added to the share of each, what will be the new ratio of their shares (zf lhc‘aToum? )
i, gt it e 2 2800 4 A s 6.2 3 3 v fennfre a0 a8 af v 3 e 6% 2005 oy
i & 3% fiewait s ST 1 €T
(A) 4:5:2 (B) 6:9:4

4€T 6:7:4 (D) 7:8:5
(E)  Question not attempted / 3Tgafta wg
136  Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B)  Mahatma Gandhi
(C) C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel e
(E)  Question not attempted
AT WA ¥ gt I9-Wurw R e Tt e
(A) Tt 3remz fraad (B)  weTeHt ieft
©) . vt MirerraT (D)  HER TTwTITE wie
(E) wqufaug

137 After the partition of India in 1947, which of the following archaeological sites remained on the Indjan side ?
(A)  Kalibangan (B)  Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
1947ﬁm%ﬁwm%mﬁqﬁﬁnﬁﬂﬁqmwﬁmmm%m% & g myy
(A)  Frefram (B) ®=wr
(C) wreTsizs : (D)  TidfiETen
(E) wnfmug

138 Whois the family deity of Bikaner royal family?
(A)  AaiMata (B) Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
R AT T £y Faadt §7
(A)  =ré wren (B) ot wren
(C) Sforgmar (D)  w& wrar
(B)  oqafwug

All] ® 28
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139 Poona Pact 1932, was associated with which of the following Leaders?
(A)  Mahatma Gandhi and Dr. Bhim Rao Ambedkar
(B)  Mahatma Gandhi and Muhammad Ali Jinnah
(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah
(D)  Mahatma Gandhi and Pt. Jawaharlal Nehru
(E)  Question not attempted .
g e, 1932 Freafirfee o & e Yot & weifira am /
(A)  wETe ikt ue €6, i andea
(B) W it 3k yewre aveht R
(C) . iinua snarga ud qewg arelt o
(D) e Mt v ufEd st vew

(E) Sgaiaww

140 Who established Depressed Classes Association?
(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar * (D) Jawaharlal Nehru
(E)  Question not attempted
<fera =t wmae, e wenfia fomam
(A) e el (B)  WETHT T
(C) Srfimra sraEEt (D) TR Ew
(B) rgaRawd

141 SVAMITVA Scheme is associated with
(A)  Soil conservation in rural areas.
(B) Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted
(A)  TiTefior gt # g T weE
(B) W& T S =
() T geeRt F Iyrag yifi v Hn
(D)  Ttor STt  wef Faeor et

() HRa 9H

142 National Panchayati Raj Day is celebratedon -
(A) 26 April (B) 20 April
(C) 22 April (D) 24 April

(E)  Question not attempted

U et e e a1 weran s 1

(A) 263w (B) 2030
(C) 223« (D) 24 3@
(B) rgufawa
Alll @ - [ P.T.O.
e
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143 Which of the following is not Constitutional Body?

(A)  National Human Rights Commission O
(B)  Union Public ScrwlcpCommission (")
(C)  Finance Commissigm_ ook
(D)  Election Commissi:\:lx‘ ™
(E)  Question not attem l\sd o
R s e B v Q
W) T i o s
(B) 9 it dar i ™
© fawsmm A
(D) T WO .
() qaf@us ™M (;;
<
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is ¥ 750%What is the simple inter,,
same sum for 8 years, if the rate of interest is increased by 2.5%? C)
R 7.5% e s B oy 8 A ORI T 7,500 WL ST Al 81 Af2 FT SN T A 2.5% T
qF 8 T8t ﬁmmmwr%rm i
(A) T 12,000 (B) ¥ 20,000
(C) T 12,500 O AP) T 10,000 o
(E)  Question not attemptad / g vy (18]
= =
145 59 U € T 3 g5 41 4 v wryay 3T B 2 Tl 3 A R F A R a0
*) g i ®) FEER ©
«£C) 3 (D) IEw 3
5
(E) rgufaws -l -
146 ﬁqﬁrﬁaﬁﬁ'ﬁaﬁ:rm&mm#ﬁﬁa}z%- O
(A) foar+smes m (B) fF+amy m
© fen+zm < ©) g+ ama R
(E) gaf@wy ™~ >
48] (48]

147 Which of the following stAtement is not correct abou
(A) This region owes ils_i!cvclopmcnt to being ri
Valley.

t the Chhota Nagpur Plateay lm@riul region?
ch in iron ore from Jharkhand-é:qlsha and coal from Dee*

(B)  This region is popularly known as *Ruhr of India™,
(C)  Thisregion cxtendUJvcr Jharkhand, Chhattisgarh and Andhra Pm;lesh, 0

(D)  Ranchi, Dhanbad, %ibasa. Sindri are some important industrial centres °f“\)(?rcgion.
(E)  Question not attcmrtgd

P & g e g v st An ot Hwdty L

(A) et et s w3 eh v afc e s 0 g g

R oy o R
(B) T8 &% e & ey, 4 @ faeara By v~ w
(€)% &7 e, Wity she vt wan v e g v
(D) e, e, v, i, vor v 3 wgeaet stheifies i
(B) ety
(
Alll ® 30 (T
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148  Which of the following statement is nor correct about the Tertiary Coal?

(A) Itis found in the rocks of the oligocene period of the Tertiary Era.
(B) Itisalso known as the brown Coal,
(C) Itisan inferior quality Coal.
(D) It contributes to about 25% of the total coal production of the country. [
(E)  Question not attempted .
Frerfeafia 3 & 0 A1 o el w3 vk i v 7E 27 '
(A) T8 Gl 0 3 Sl e i szt i v s 2
(B) T VU QAT & A1 F oft S e &y
(C) T = TorE T Fraen drar 2 ’
(D) 8 30 T HIAEH I H 25% v stz 2ar 21
(€) e ws
149 Karewa formation are useful for the cultivation of
(A) Coffee . \
(B)  Zafran/Saffron
(C) Cotton
(D) Jute
(E)  Question not attempfed
FET TG (BIYH) Rt Gt & fora 3vdnf 22
(A) = : ' o .
(B) FW
(C) =™
®) g ‘
() sy
150  Which of the following river is right bank tributary of the Ganga River System?
(A)  Ghaghara
(B) Ramganga
(C) Son ¥
(D)  Gomti
"(E)  Question not attempted
Freaerias & ot e o e s o e o T &2
(A) = mu
(B)  Tmim
© wm
®) i
(B)  smmfauy
All] ® ; 31 [ P.T.O.
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